
lqk'/f;'Gb/L ufpFkflnsf cf=j=2075÷076 sf nfuL kfl/t of]hgfx? 
 

qm=;+= of]hgfsf] gfd ah]^ j*f g+= s}lkmot 

s cfly{s ljsf;       

1 ltg ('Ë] lgj' l;rfO{ 400000 1   

2 cn}rL v]tL cg'bfg 200000 1   

3 w':s'g s[lif ;xsf/L ejg lgdf{)f 1500000 uf=kf=   

4 lqk'/f;'Gb/L 1000 dfp afv|fkfng sfo{qmd 300000 3   

5 nK;L SofG*L pBf]u :yfkgf cg'bfg 200000 3   

6 ^«i^ ^g]n s[lif sfo{qmd 1000000 3   

7 kmnkm'n v]tL cg'bfg 500000 5   

8 ^]sfgk'/ x|ofr/L df%fkfng cg'bfg 500000 6   

9 cfly{s ;xfotf,rGbf, k'/:sf/ sfo{qmd 400000 uf=kf=   

10 ]hf]Tg] \̂ofS^/ ldgL ]̂n/ 400000 uf=kf=   

11 bfjL vf]nf ;fgf hnljB't cfof]hgf 1000000 uf=kf=   

12 kz' ;]jf sfo{qmd 1000000 uf=kf=   

13 s[lif ljsf; sfo{qmd 2000000 uf=kf=   

    9400000     

v ;fdflhs ljsf; 0     

1 sfu]Zj/L df=lj= 300000 1   

2 ;]tLb]jL cf=lj= 300000 1   

3 >L /fd df=lj= cg'bfg 300000 2   

4 l;l$sfnL kf]ln^]Slgsn lzIffno :yfkgf 1000000 3   

5 kx/L efiff vf]h tyf cg';Gwfg 200000 uf=kf=   

6 dx]Gb| k|tfk df=lj= gd'gf ljBfno cg'bfg 1000000 3   

7 w':s'g cf=lj= cg'bfg 300000 3   

8 nfnLu'/fF; cf=lj= #]/faf/  500000 3   

9 hgtf cf=lj= gd'gf ljBfno cg'bfg 1200000 4   

10 d+unfdfO{ df=lj= 11 sIff ;+rfng 1100000 4   

11 ;]tLb]jL cf=lj= klx/f] lgoGq)f 100000 5   

12 rr{ lgdf{)f ;xfotf tf}+ynL 300000 5   

13 *fF*f ufpF Rofg*fF*f k|ltIffno lgdf{)f 100000 3   

14 ufpF lzIff ljsf; sf]if 1400000 uf=kf=   

15 ufpF :jf:Yo ljsf; sf]if 2500000 uf=kf=   

16 sfg'gL ;Nnfxsf/ Joj:yfkg  200000 uf=kf=   

17 Ohnf; Joa:yfkg 300000     

18 ;fd'bflos d]nldnfk cg'bfg 350000 uf=kf=   

19 afnaflnsf sfo{qmd 300000 uf=kf=   

20 cWoIf km'^an sk sfo{qmd 400000 uf=kf=   

21 ckfª\utf ePsf JolQmx?sf] nfuL ;zlQms/)f sfo{qmd 300000 uf=kf=   



22 w':s'g :jf:Yo rf}ls ejg lgdf{)f 1000000 uf=kf=   

23 Gofo ;Dkfbg ;xhLs/)f tflnd 100000 uf=kf=   

24 dlxnf nlIft sfo{qmd 0     

  j*f g++ 1, #f]y{nL 200000 1   

  j*f g++ 2, rf]s^L sfg'gL k/fdz{ sfo{qmd 450000 2   

  j*f g++ 3, w':s'g 0     

  afF;sf] d'(f 200000 3   

  sDKo"^/ lzIff 300000 3   

  j*f g+= 4, lk:s/ 0     

  df;' pTkfbg 500000 4   

  t/sf/L v]tL 200000 4   

  l;nfO{ s^fO{ tflnd 300000 4   

  j*f g+= 5, tf}+ynL 0     

  dlxnf ;zlQms/)f,g[t[Tj ljsf; 400000 5   

  sDKo"^/ lzIff 300000 5   

  j*f g+= 6, ^]sfgk'/ dlxnf ;zlQms/)f / g]t[Tj ljsf; 500000 6   

25 dlxnf ljz]if sfo{qmd 1000000 uf=kf=   

26 dlxnf ljsf; sfo{qmd 500000 uf=kf=   

    18400000     

u jftfj/)f tyf ljkb| Joj:yfkg 0     

1 ljkb Joa:yfkgf 2500000 uf=kf=   

2 glb lgoGq)f sfo{qmd 500000 uf=kf=   

    3000000     

# ef}lts k"jf{wf/ ljsf; 0     

1 ufpFkflnsf ejg hUuf Joa:yfkg 2500000 uf=kf=   

2 #f]y{nL ^\jfynL rf]s^L nf^' ;*s 1300000 uf=kf=   

3 kfTn] nf^' ;*s 2000000 uf=kf=   

4 a'FufynL lgufn] sfnLkf]v/L ;*s  500000 uf=kf=   

5 tf}+ynL rS%f]df s'/fynL ;*s 1300000 uf=kf=   

6 tf}ynL u)f]z:yfg hnhn] ;*s 500000 uf=kf=   

7 tf}+ynL *jnL klx/f] lgoGq)f 1000000 uf=kf=   

8 ;f}o{ aQL tf}+ynL, ;'gsf]zL 1000000 uf=kf=   

9 d+unfdfO{ df=lj= eag lgdf{)f 3000000 uf=kf=   

10 ^f]snv' lq;'n*fF*f /]lnË l;+(L lgdf{)f 1300000 uf=kf=   

11 xfFl*vf]nf aFb]n] ^\jfynL #f]y{nL ;*s dd{t 1500000 1   

12 aFb]n] ts]{gL %fk*fF*f #f]y{nL ;*s dd{t 700000 1   

13 ljdynL ;*s dd{t 500000 1   

14 #f]y{nL l;dn^f]n ;*s lgdf{)f 500000 1   

15 nK;] ;*s dd{t 500000 1   

16 ;fË]^f]n #'DtL l;+(L gd'gf af^f] lgdf{)f 500000 1   



17 nflhd klx/f] /f]syfd 200000 1   

18 &f*f]s ]̂/L d'xfg b]lv ;fË]^f]n ;Dd vfg]kfgL lgdf{)f 500000 1   

19 *\ofd sfGn] rf]s^L ;*s dd{t 1000000 2   

20 ;]n]n] n+u'kf{ ;*s dd{t 500000 2   

21 ;]n]n] j'b]kf ;*s lgdf{)f 1000000 2   

22 a'FFufynL  lj=s= ^f]n=k'n lgdf{)f 100000 2   

23 nf^' a;kfs{ d}bfg lrnfpg] ;*s lgdf{)f 500000 2   

24 :jf:Yo rf}ls eag lgdf{)f 2000000 2   

25 >L /fd df=lj= klx/f] lgoGq)f 1000000 2   

26 n+u'kf{ ;fd'bflos ejg lgdf{)f 500000 2   

27 e'd] dlGb/ ejg lgdf{)f 200000 2   

28 yfdL ;+u|xfno lgdf{)f 600000 2   

29 ;fnLgL gbL hfg] l;+l( af^f] lgdf{)f 200000 2   

30 rf]s^L vfg]kfgL dd{t 500000 2   

31 vflhn'ª ;*s lgdf{)f 1500000 3   

32 ;'gsf]zL kmfk/rf}/ tls{gL ;*s lgdf{)f 1000000 3   

33 sfe|] cf]Vn] ;*s lgdf{)f 400000 3   

34 PSn] lrq]kf^L ;*s lgdf{)f 500000 3   

35 w:s'g zfvf ;*s dd{t  500000 3   

36 ;'gsf]zL cr{n] ;*s lgdf{)f  500000 3   

37 ln;]kfgL Rofg*fF*f ;*s lgdf{)f 500000 3   

38 kfTn] Rofg*fF*f tyf af^f] lgdf{)f 700000 3   

39 P];]n'vs{ ;*s dd{t 500000 3   

40 dx]Gb| k|tfk df=lj= v]nd}bfg lgdf{)f 700000 3   

41 ;'gsf]zL ?Gr] l;l( af^f] lgdf{)f 500000 3   

42 ;fFbL sfe|] l;+l( af^f] lgdf{)f 300000 3   

43 j]t] wf/f] d'xfg ;+/If)f 500000 3   

44 *fF*f ufpF ;fd'bflos ejg dd{t  200000 3   

45 hfkfynL ;fd'bflos ejg lgdf{)f 500000 3   

46 cf]v|]gL vf]nf k'n lgdf{)f 500000 3   

47 bfjL  l;+l( af^f] lgdf{)f 500000 3   

48 ltgrf}tf/f Rofª\yf ;'sbn ;*s dd{t 1500000 4   

49 yfdL ;+u|xfno lgdf{)f 1800000 4   

50 hnhn] j}tL kf]v/] ;*s lgdf{)f 1500000 4   

51 zlxb jL/ a= O{nL yfdL :df/s 1000000 4   

52 dxeL/ vfg]kfgL dd{t 300000 4   

53 j}tL / d';'/] vfg]kfgL lgdf{)f 500000 4   

54 efn'vf]k tNnf] b]lv lk:s/ vf=kf= lgdf{)f 1500000 4   

55 gft]Zj/ u+uftL ;*s lgdf{)f 500000 5   

56 u)f]:yfg wfdL^f]n b]:yn ;*s 500000 5   



57 sfnf]kfgL nfdf]rf}/ ;*s 500000 5   

58 kfªu|fjf]^] vfun ;*s lgdf{)f 500000 5   

59 hf]/kLkn l%kLufFp ;*s lgdf{)f 700000 5   

60 dflyNnf] rS%f]df ;*s lgdf{)f 400000 5   

61 sfnf]kfgL x|jftu/ ;*s  500000 5   

62 nfs'/L *fF*f |̂ofª\sL ;*s dd{t 500000 5   

63 gft]Zj/ led;]g kfs{ 300000 5   

64 (f]stL ('Ë]wf/f dd{t 200000 5   

65 hkl;n] v]nd{bfg lgdf{)f 1000000 5   

66 sfnf]kfgL kfs{ lgdf{)f 2000000 5   

67 Tjf/f lkknaf]^ kfs{ lgdf{)f 800000 5   

68 kfK;f vfg]kfgL dd{t 300000 5   

69 /ftdf ]̂ afx'gufpF l;+l( af^f] lgdf{)f 700000 5   

70 SjfofF vf]nf (f]S%f]kf b]j:yn vfg]kfgL lgdf{)f 800000 5   

71 j*f sfof{no ejg lgdf{)f 2500000 6   

72 x\jfs'nv' ]̂sfgk'/ vfg]kfgL  lgdf{)f 2500000 6   

73 wf/fkfgL  bfjLa]zL ;*s dd{t  1000000 6   

74 kmf]tLa]zL ;*s 500000 6   

75 a'lsgL hf]/lkkn ;*s dd{t 500000 6   

76 kLkn*fF*Ff uf}/faf/L vfg]kfgL lgdf{)f 500000 6   

77 #§]*fF*Ff k|ltIffno lgdf{)f 300000 6   

78 *\|ofd;fO* k|ltIffno lgdf{)f 150000 6   

79 l&kf sflnsf dlGb/ af^f] /]lnª lgdf{)f 500000 6   

80 sflnsf dlGb/ vqL ufpF /]lnª af^f] lgdf{)f 500000 6   

81 ^]sfgk'/ v]nd}bfg lgdf{)f 1000000 6   

    65450000     
ª ;'zf;g tyf ;+:yfut ljsf; 2500000     
r ljz]if cfs:lds sf]if 1000000     

% dd{t ;Def/ sf]if  350000     
 


